N & 0l & AF & E A A
20148 & =0l &k LBHSIH A
SN BRHAEOEAE B
M HIN ML H
Ol BEHALOFAEY 2 (S5 &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
St=2EAFHNEH E 2 7,692,553 3,192,701 4,499,852
HIQH tH ot St 2,708,096 3,136,105 A 428,009
SFREAEOEME 2 29 2,708,096 3,136,105 A 428,009
SIIFAENAHE R 2F 22 630,382 818,474 A 188,092
101 1A bl 428,592 209,776 218,816
M4 JI12ZHZEXNSES 428,592 209,776 218,816
OJIZ2tM 4 (HE) 61,395
=lleg 41,8003 * 4% x 185¢ 30,932
ocxgg 41,8003 = 4% = 39 6,521
oxdz2eRd 62,7003 * 4% x 49« 12,290
o ZHAIH| 3,000& * 4% » 234« 2,808
S EEEE RN
7,8383 * 4% « 20A12t « 9 5,644
o F A FOHI 400,000& * 49 « 23| 3,200
OJIZ2HM 13 (OHE1, AR A, 241, =2
&HA8) 263,065
SPIE-t=| 41,8003 = 13% = 248¢ 134,764
ocxgag 41,8003 = 13% 52 28,257
osd2RRYH 62,7003 = 13¥ = 65¢ 52,982
o ZHAlH| 3,000& = 1398 = 313 12,207
SR EE S
7,8383 * 13H » 20AI2t » 123 24,455
o P EFOHI 400,000& = 139 « 23| 10,400
OJI2HM 3 (& 4l) 96,132
=lleg 41,8009 » 3% * 2/3 » 3652 30,514
LR
41,8002 /2 » 3Y = 1/3 = 8AI2+ * 365¢ 61,028
o ZHAIH| 3,0008 * 3¥ * 2/3 » 365 2,190
o ZE FOHI 400,000& = 3 « 23| 2,400
OTl=Hl 20% (J12+Al)
200,000 = 209 « 23l 8,000
201 L2l 96,680 505, 406 AN408,726
01 At 22l 39,720 71,970 A 32,250
OYd&EA M 100& * 120,00004 12,000
OsE= M 100& = 150,000% 15,000
O2Ra HaR=24Z # 70,0008 ~ 128 840
O22Xx 1=l 200,000 = 27H = 13l 5,400
OMEA IIEXF I |A22H]
15,0003 * 6CH » 12& 1,080
OlMEAr 298 423 7¢
50,000& = 6CH » 12& 3,600
OFX,3H4d 298 A28 7Y
100,000& = 12& 1,200
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SA: BRHAEGTHE D
MM HR0N OAMSE =
Ol BRI AUENED 2 (SHol: @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OgzZtald M 28 228 ¢
50,000& = 12& 600
02 =224l 56,960 433,436 A 376,476
OXsxt |*%F & 22|
250,000 = 1CH = 123 3,000
OfIges =8 10,000& 204 » 128 240
OSFHIAAE SX22l  800,000& 122 9,600
OJEZHUE =FH==2
2,916,660& * 128 35,000
OMEAAEY X &2 5,520
ocAZEAN KX 2e 290,000 = 12& 3,480
o MHAIAE SX2el 170,000& * 123 2,040
ORER= 300,000& = 123 3,600
202 O4dl 4,860 4,860 0
01 = LH 4 Hi 4,860 4,860 0
O2Za4ds 2=
81,000& = 2% * 32 * 103 4,860
206 M= Hl 15,000 0 15,000
01 =4l 15,000 0 15,000
OEAE 237¢ 1,250,000& = 12& 15,000
301 et d = 85,250 98,432 N 13,182
09 HALAHIE& S 5,250 18,432 A 13,182
OWIEEY 22X =4l
7,000& = 159 = 50 5,250
MIIEEd=3 80,000 80,000 0
OMOU M2Z2 SH 25282 X dE=
14,000& = 100,000 * 5% 70,000
OJfel 2887 AdEE
100,000& * 1002 10,000
SHRHAEGHYE D SH0H 567,603 644,815 ATT, 212
201 Let24E] 544,988 607,200 AB2,212
01 At 2t 2l 360,700 407,700 A 47,000
O=8MI M 1,500& = 30,0005 45,000
OEZ#0 MZ 230& = 300,000 69,000
OZHIHE M= 60,000& = 5001 = 23l 6,000
O2ctel oHAE 50,000
o221 & JtHl SNS Ot E
50,000,000 * 14 50,000
O=ctel Ot E 180,000
=mot OtAE 50,000,000 * 14 50,000
oY ES A PPL OHAHIE 100,000,000 * 14l 100,000
ocAN&d2 0l OtAHE 30,000,000 = 14 30,000
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SN BRHAEOEAE B
M HIA0IN M B4
el stxEAENETE R 29
SA - ZE-B(EA) - NRAY - B S il &t o il
4 D122 E2XREES 122,313 158,628
OJI2ZtH 1€ (=2set ad2el) 17,541
=JIE= 74,5303 * 18 » 121 9,019
oxFF g 74,5303 * 1% » 26¢ 1,938
oxYUI2RSH 111,795& » 18 » 34 3,802
o 2HAlH| 3,000& * 1989 * 155¢ 465
oA RLY
13,974 » 1% = 20AI2t = 63 1,677
cfE+g 40,000& * 1% = 68 240
o ZEFOHI 400,000& = 198 = 13l 400
OJIZtH 1€ (=2set & 3Hl) 12,570
cJIE2=s 51,990& = 1% = 121« 6,291
oFFd 51,9903 = 1% » 26¢ 1,352
e ] 77,9853 * 18 » 34 2,652
o 2HALH| 3,0008 * 19 * 1552 465
S EEEEEN
, 7483 + 1H » 20AI2t » 68 1,170
cfE+g 40,000& * 1 = 68 240
o FEFIHHI 400,000 * 1¥ = 13 400
OJIZtH 1€ (=2set 28 3Hl) 19,112
=llesg 51,990& = 198 * 184¢ 9,567
oFFd 51,9903 = 1¥ » 39¢ 2,028
oxd2fRd 77,9853 * 1% » 50 3,900
o 2HALH| 3,0008 * 198 » 2342 702
oNAATR4g
9,7483 * 1 « 20A12t = 9& 1,755
o +g 40,000 * 1% = 9& 360
o dZF Il 400,000& = 18 = 23| 800
OJIZtH 2 (2sct 2&FHHI) 50,452
=Jl2g 51,990 * 2 * 248 25,788
oFFd 51,9903 = 2%  52¢ 5,407
ox52dI2RY 77,9853 * 2H * 65¢ 10,139
o ZHAlH| 3,000& = 2% = 313 1,878
cA222xE
9,7483& * 2H * 20AI2t = 12& 4,680
oY+ 40,0003 = 2% = 12& 960
o dEF | 400,000& = 2H =« 23| 1,600
OJIZtH 1€ (2set BX) 20,238
=Jl2g 41,8003 * 1% = 248 10,367
oFF 41,8003 = 18 » 52 2,174
S e =] 62,7003 * 1% = 65¢ 4,076
o ZHAlH| 3,000 = 1% = 313 939
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SN BRHAEOEAE B
M HIN ML H
Ol BEHALOFAEY 2 (S5 &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SEEEEN=
7,838% * 18 » 20AI2t » 122 1,882
o HZF Il 400,000& = 18 = 23| 800
Oul=dl 6 (J12tH)  200,000& * 6F * 23] 2,400
201 LBH2d| 544,718 732,586 A 187,868
01 At 2t 2l 14,188 44,048 A 29,860
Oz=sct HIIZA =22
2,024,000& * 200 = 13| 4,048
OM==x B4 =2 1,500,000& * 23] 3,000
OMga & =8 1,000,000& * 53] 5,000
S0 BIIZA 42 120,0002 * 7CH 840
OULIl HIIAM 248
1,300,000 = 13l 1,300
02 2324l 530,530 688,538 A 158,008
OdMERE =S 1,000,000& * 23] 2,000
O=2sct 2gitd 8,000,000& * 13l 8,000
O&stx =HE 17,000& * 600& 10,200
OXIIRS 25,000,000& * 128 300,000
O&ol=E 23 1,800,000& » 12& 21,600
OdEIIEH |XNE+ 1,000,000& * 43| 4,000
OAg 4l RXNE+ 800,000& = 33l 2,400
OHl &g &H RIS 800,000& = 3CH 2,400
O=2=ctdl #XE+ 1,500,000 * 43] 6,000
Odusdd SN2 900,000& =« 43l 3,600
OJIAEH |2 900,000& * 43 3,600
Osd & X2+ 900,000& = 43l 3,600
0527 HIBY Oy 248
1,000,000& * 12& 12,000
OLPG MEHI HYZH A 4,000,000& * 13l 4,000
Oet=2ItAE I AL E 3/l 120,000& * 13/ 120
OBy EI| ¢2HI(FR)
1,7783& * 2004 = 43| 1,423
OM&EXZE HdEHI(ZR)
1,7783& = 1004 = 43| 712
Oagordztel &3l 50,000& =« 13l 50
Ost=2dgI|=0l sl 85,000& * 12 85
Odugdz ol (JtA) 11,828,333& * 128 141,940
O3JI22d s =+5
1,300,000& * 14l 1,300
O&2t2==2tgI HLZ AL 1,500,0008 * 1A 1,500
202 oddl 3,888 3,888 0
01 SLHOYI 3,888 3,888 0
OAg2ege=a
81,000& = 2¥ * 3 * 83 3,888
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SN BREAEAEUED

HE: WION UM H

Ee: SI2HAUENMYE 2 2H (2 &HH)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
206 M = Hl 65,514 79,365 A 13,851
01 XH 2 H| 65,514 79,365 AN 13,851

O2=ct2dg A3 500,000& = 12& 6,000
O2sct&d S2HZ(LWAEEHDT 2 33%)

22,060,000& * 14! 22,060
O2se&l 2 (Y 2 18)

12,675,000& = 14 12,675
OAMAH NHMH(IERIX) 2

38,500& * 33| * 267 3,003

o224 AMAY ZEHTA(10+33])

1,276,000& * 14! 1,276
OAEEeE XERY 600,000 * 5= 3,000
O&2X)| 2 ¢ 9,000,000& = 14! 9,000
OJIHAEH ARE(HE, O2lA)

1,000,000& * 14! 1,000
OS2 A8t KX AR2E

2,000,000 = 14! 2,000
OU%E E2J] oI Z(=0et=012 38)

5,500,000&¢ = 14l 5,500

401 Al HI L £ 0HHI 49,500 60,000 A 10,500
01 Al& b 49,500 60,000 A 10,500

O&ad2=c EH &K 8,500,000& = 1A 8,500
O2sctaedl oty 29

21,000,000& * 14! 21,000
OZXZANLE22(EX, HR)

10,000,000& = 23| 20,000

SI2EAEHOMME R WEIIE 82,878 57,468 25,410
101 e1214| 31,498 36,838 A5,340
04 JIZtHI22XNEE S 31,498 36,838 N5,340

OJIZHMl 28 (S L X F) 30,698
ollzag 41,800 * 2% % 185Y 15,466
oSG 41,800& = 29 = 39¢ 3,261
o522 62,700 * 2% x 49¢ 6,145
o 2HAIH| 3,0008 * 2% * 234 1,404
oNABRAY
7,838& * 2% x 20Al2t * 9F 2,822
o HAEF Y| 400,000€ * 29 * 23| 1,600
Qul=Ed| 2% (J212HAl) 200,000 = 29 * 23| 800
201 et 38,950 6,200 32,750
01 AFR 2t 2| bl 3,950 4,200 A 250
QHEXAIE 28 A2E 100,000& * 12& 1,200
OZYN? 2227 Y=
550,000& * 1CH * 53] 2,750
02 Z2=2=24%4| 35,000 2,000 33,000
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2N BREALOTYED
HE: WION UM H
Ol BRI AUENED 2 (SHol: @)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OHEXAIE X 22| 2,500,000& * 23| 5,000
O=28g AIE2=2 30,000
202 04| 2,430 2,430 0
01 2Ll 2,430 2,430 0
OZ208 Y N
81,000 » 2 » 32 * 53| 2,430
206 T 24 3,000 5,000 A2,000
01 X2 H| 3,000 5,000 A 2,000
QMBI AL COHHMEH ADE (LMY EQI8E) 3,000
401 Al HI L £ 0HHI 7,000 7,000 0
01 Al& H| 7,000 7,000 0
OECIEH HEHE 0lsA g&A &I
7,000,000 * 1= 7,000
SRHAEGMMED BAEDS 641,300 578,681 62,619
101 2121 H] 395,550 449,805 Nb4 255
04 JI2ZtHIZ2 2 NEE 395,550 449,805 ANb4 255
OJIZHH 1H (B AE XA 23) 26,853
ocllgaz 1,620,000 = 1€ » 9 14,580
o5d22 44 116,640 = 19 » 49 5,716
o 2HAIH| 3,0008 * 198 * 234 702
oAt Z2R44E
14,580 * 1 = 20Al2t = 98 2,625
SR = 14,580,000 * 2/12 2,430
o HAEF Y| 400,000& = 1 * 23| 800
OJN2HH 12 (HAEX A 32) 24,080
ollgz 1,560,000 = 1€ = 9 14,040
o522 Lg 74,880 * 1Y x 49¢ 3,670
o 2HAIH| 3,0008 * 1 » 234< 702
oAt 2R4E
14,0403 ~ 1% » 20Al2t = 9& 2,528
oAt 2 14,040,000& * 2/12 2,340
o HAE S IHH| 400,000€ * 1€ * 23| 800
OME & Al&2e 95,421
ollEa 51,990 % 5% x 185¢ 48,091
oFxE LG 51,990& * 5% = 39¢ 10,139
osd2R L 77,9853 * 5% x 49¢ 19,107
o 2HAIH| 3,0008 * 5% * 234< 3,510
S EEEEEN
9,748 * 5 x 20Al2t * 9& 8,774
o844 40,0008 * 5 = o9& 1,800
oA FIHY| 400,000 = 5bH * 23| 4,000
OJIZ2ZHN sE (M2 BX 7, IIZHET) 122,788
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SN g

X{ XH -
S =

- B(EN) - NRAY - B S il &t o il
=Jl2g 41,8003 = 8%¥ = 185¢ 61,864
oFF 41,8003 = 8% » 39¢ 13,042
ox5d2RY 62,700% * 8H * 49 24,579
o2t ALYl 3,0002 * 8% * 2342 5,616
S EE RS

7,8383 * 8Y * 20AI2t = 9 11,287
o FEFIHHI 400,000 = 8% =« 23] 6,400
OJI2HM 1€ (Ef0tA) 16,829
=lleg 46,2603 * 1% = 185¢ 8,559
oFFd 46,2603 * 1% = 39 1,805
oxdU2RRd 69,390 * 1H * 49 3,401
o ZHAIH| 3,000& * 1% = 234 702
oA2A2RFE
8,6743 * 1 « 20AI2t = 9 1,562
o H A F I 400,000& = 19¥ « 23| 800
OJIZtH s (HMEga EX) 101,179
cJIE= 41,8003 = 5% = 248 51,832
oFxsad 41,800& * 5H * 52¢ 10,868
oxdU2RRY 62,7003 = 5% = 65 20,378
o 2HAlH| 3,000& * 5% = 313« 4,695
oA242A2RFE
7,838% * 5H x 20AI2t » 123 9,406
o dEF I 400,000& = 5H « 23| 4,000
OJIZEHMZ2 S X Il =8l
200,000& = 218 « 23| 8,400
2 ol 71,554
01 At 22l 10,600
OME2 WXz HUolE
300,000& * 100H A& 3,000
OXMga e A =2 2,000
OFAE2IERAS 29 50,000& = 103 500
O&FAaY E3A4 29 3,600
oFAHE AL 25 P
300,000& * 43| 1,200
o¥AWE A ARE 200,000& = 123 2,400
OIZHE EN, 70t W7 7 1,500
02 =224l 50,954
OXdE2 23 200,000& = 70 = 12& 16,800
ORIIANE X 5,986,000& ~ 43 23,944
OQHY dME3lH 082 388,300& » 12& 4,660
OYg=Z=zHH 2cld 150,000& * 37CH 5,550
03 A2 Z Hl 10,000
OFAY THAHE ¥E 7,000
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A&
X ZH - H
L= B [s=)
ctel: 8

e PN ISR EF
20N NS Y
IFLUGTHED 2

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OMLtetE AR A 1,500
OoZALFHUAYE DA 2 1,500
202 04l 2,916 2,916 0
01 SLHOIYI 2,916 2,916 0
Ousa4dst =W 2,916
cusIZzINY Y Xz =&
81,000& = 2% » 32 « 63 2,916
206 = Hl 153,160 5,000 148, 160
01 = dl 153,160 5,000 148,160
OMg2a 28 2258 2< 113,440
cUmRHME WI
1,232,000& = 35MIE « 23l 86,240
oHED E251 OE S
4,000,000& = 28 8,000
oJIEt AZF (M, NEH )
350,000& = 123 4,200
oME& tdlZ 2l 15,000
O&HAM=(CPR) REE JIAM 8,520
oHtY AZ=X HE 40,000& = 163m 6,520
cuW=F ARIE 100,000& * 208 2,000
OZELHNEREE I 18,700
oc2X 1,200,000& * 12 1,200
OGtUIA(AHNMHUE) 300,000& = 504 15,000
ottt (er&el) 30,000& = 504 1,500
o8k 27| 20,000& = 5004 1,000
O9%m XotgERE MEE JIXIH 12,500
oMY, A, PEESH
250,000& * 50MIE 12,500
301 et a = 5,120 0 5,120
09 BAHAIYI & &3 5,120 0 5,120
OBAHR2YSINE 2Y 2,000
cHAE2AS A DAY
7,000& = 20 = 103 1,400
ocHAH2IERAY S|
3,000& * 20¥ = 10& 600
OXNESAES X& 3,120
o NHESALA =40l 7,0008 * 6Y x 52 2,184
oM SALA WSH  3,0008 * 6Y x 52 936
401 Al HIZ 201 I 10,000 0 10,000
01 A& HI 10,000 0 10,000
Ogd=Ez XA 10,000
405 TtabF S| 3,000 0 3,000
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AN BIREAHHNTY S 2
M HIN ML H
Ol BEHALOFAEY 2 (S5 &)
SA - BB B (EH) - NRAY - BES of & o SSa HI D2
01 ML ESFHSH 3,000 0 3,000
OdHAME(CPR) RIE 0lSA TV(55Q!XI)
3,000,000 = 1CH 3,000
Az HHad=sd 4,755,259 4,755,259
KIS0 ALS 4,755,259 4,755,259
MM EH O £ 4,755,259 4,755,259
401 AIEBI L 2 CHEI 4,755,259 4,755,259
01 A€ dI 4,742,489 4,742,489
Ot m JHE S A 4,742,489
03 Al S THHI 12,770 12,770
OWd W HES A 2UHI 12,770
HE2LZH (B2 FAHAMYE 2) 229,198 172,602
H24H 174,086 174,086
A2 (S=yLENHE 2) 174,086 174,086
101 @124 H] 174,086 174,086
03 RINAAL=22E = 174,086 174,086
OflEzel 22X E4(4Y) 23,968
oJlzag 41,800% = 4% » 642 10,701
oa0iz 10,701,000& = 1/3 3,567
oFssd 41,800% = 4% » 13¢ 2,174
oYLy 62,7008 * 4% * 162 4,013
oNeRRAY
7,838  4H » 20AlI2t » 3F 1,882
=il 80,000& = 49¥ » 33 960
o X IH&HI 22,337,000& * 3/100 671
Om=set ¢Eze 224 B(1Y) 18,752
oJdlEs 64,750 « 1% » 127 8,224
oa0iz 8,224,000& = 1/3 2,742
oxFgsdg 64,7503 * 1% » 26¢ 1,684
ocxgdI2RH 97,1256% = 18 * 31 3,011
S EEEEEN
12,1413 = 18 » 20AI2t » 63 1,457
o8 xdg 40,000 = 18 » 63 240
=] 80,000& = 18 » 63 480
o HE S Oty| 400,000& » 1H = 13 400
SPSEW) Fals] 17,118,000& * 3/100 514
O=gct 2dFy2e 22X E2(19) 13,427
oJlEs 45,1903 ~ 198 » 127 5,740
oca0iz 5,740,000& * 1/3 1,914
oxFgsdg 45,1903 = 1% » 26¢ 1,175
ocxgdI2RH 67,7853 = 18 * 31 2,102
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SN BRFAEGEIE R
o HYPYAH (HRHAUANHHEH)
Sl ol ) CERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
SN EECEY:
4738 % 1Y« 20AI2F * 62 1,017
ofIE 4 40,0008 * 1% * 63 240
o2l 80,000% * 1% * 63 480
o Y HEIH| 400,000% * 1% * 13| 400
o X LI A 11,948,0002 + 3/100 359
Ozsd 2FFYB 22X 22(1F) 7,091
oJ123 45,1902 * 1% * 642 2,893
X013 2,893,008 * 1/3 965
oxg4Y 45,1908 * 19 * 13 588
cpYyIRLy 67,7858 * 19 * 152 1,017
SR ELE
847320 * 1% * 20AI2t » 3% 509
ofIE 4 40,0008 * 1% « 33 120
o2l 80,0009 * 1% * 3% 240
oY HEIH) 400,000% * 1% * 13| 400
S S TLL 11,948,0002 * 3/100 359
OsYNTR2 22X 24(2Y) 1,132
°J123 41,8002 * 2% * 642 5,351
X013 5,351,0008 * 1/3 1,784
oFE4Y 41,8008 * 2% * 13 1,087
cggaeLy 62,7008 * 29 * {52 1,881
SR ELE
7,838% « 1% « 2012t * 33 471
o2l 80,0002 * 1% » 33 240
S S TL 10,574,000 * 3/100 318
OBAHXCA(22)24 9,739
oJ123 1,620,008 * 1% « 3% 4,860
o &0 4,860,0008 * 1/3 1,620
cpYyIRLY 16,6402 * 1% + 162 1,867
oo DRAY
14,5808 * 19 = 20AI2t = 33 875
o2l 80,0002 * 1% * 3% 240
S ESTLL 9,222,0002 * 3/100 277
OBAUXCAH(32) 24 9,388
°J123 1,560,0008 * 1% * 3% 4,680
X013 4,680,0008 * 1/3 1,560
cpYIRLY 12,3208 * 1% » 162 1,798
oo DR
14,008 « 1Y * 20AI2 * 33 843
o2l 80,0008 * 1% » 3% 240
o X LM &b 8,881,0002 * 3/100 267
OB NER2 22X 24(5%) 29,865
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2AN: = AEHNIYE 2
HE: HHRARY (F2HLUAAHAE D)
gel: o2yl eEH)
SA-EY .S (BH) - NEANY - BES il 2t
ocllz2 45,190 » 5% » 64 14,461
SRS E=, 14,461,000& = 1/3 4,821
cEYaRLY 67.785% » 52 + 162 5,423
S EEEERN
8,473& * 5% x 20Al2t * 3 2,542
oz | 80,000& » 5 = 3& 1,200
oE+Y 40,0003 » 5% = 3& 600
o X RI&H| 27,247,000& * 3/100 818
OME& BX(7H) =S(1y), gora (1
o)z 22N 2 50,724
oJlga 41,8008 * 9Y x 64Y 24,077
SESAGE= 29,428,000& = 1/3 9,810
oF5dIZ2RYH 62,700& * 9Y x 16 9,029
o N2 ELE
7,838& * 9Y x 20A|2F * 3 4,233
o g &l 80,000& = 9% = 3& 2,160
o XA 47,149,000€ * 3/100 1,415
24l 55,112 56,596 A1,484
2 (=22 AEHEMYE 2 55,112 56,596 N 1,484
201 L2 | 48,272 49,756 A1,484
01 At 22l Yl 48,112 49,596 A 1,484
OBMdE2Y JI=2dl 250,000& = 12& 3,000
OANEE2E RU(2AX S) 300,0008 » 128 3,600
OMHEANRII 225 2 12,120
o S AH)| 300,000& = 20H * 4 * 23] 4,800
oIZRIHI|(E8, HHAESE)
300,000& * 3CH = 444 x 1,53 5,400
T2IHI| (W) 300,000& = 3CH * 23l 1,800
omA 120,000 = 104 * 13 120
ONEZEXU2 20,000& * 382 = 12& 720
O&=J dtiz 49,900 404 = 12& 2,396
O= &l 7,000& * 2799 *= 7 * 12& 15,876
Og &l 50,0008 * 49Y x 52 10,400
02 332494l 160 160 0
OXS A 60,000& * 1CH 60
ostgeg=3 100,000& * 1CH 100
202 0db] 1,760 1,760 0
01 2LHOHI 1,760 1,760 0
Oblaz22f 2ol 1,760
203 YR =&lY| 5,080 5,080 0
02 HRJAE R =&Y 880 880 0
OFIAINNMIRFXY 40,0003 * 224 880
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